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SEQUENCES AND SERIES

Example

1. Write the first three terms in each of the following

sequences defined by the following: 

(i)  (ii) 

Watch Video Solution

an = 2n + 5, an =
n − 3

4

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_kdSRBcXTpWPC


2. What is the  term of the sequence defined by 


Watch Video Solution

20th

an = (n − 1)(2 − n)(3 + n) ?

3. Let the sequence  be defined as follows: 

 for  . 


Find first five terms and write corresponding series

Watch Video Solution

an

a1 = 1, an = an− 1 + 2 n ≥ 2

4. If the sum of n terms of an A.P. is 

, where P and Q are constants, find the common

nP + n(n − 1)Q
1

2

https://dl.doubtnut.com/l/_9JqZiZ8z5P8v
https://dl.doubtnut.com/l/_xjpyzFuD8pK9
https://dl.doubtnut.com/l/_Jr0v2bfcDq3j


difference.

Watch Video Solution

5. The sum of n terms of two arithmetic progressions

are in the ratio (3n + 8) : (7n + 15). Find the ratio of

their  terms.

View Text Solution

12th

6. The income of a person is Rs. 3,00,000, in the first

year and he receives an increase of Rs.10,000 to his

income per year for the next 19 years. Find the total

amount, he received in 20 years.

https://dl.doubtnut.com/l/_Jr0v2bfcDq3j
https://dl.doubtnut.com/l/_B8Fg8rCdlSF5
https://dl.doubtnut.com/l/_lZKzHVjmNFLH


Watch Video Solution

7. Insert 6 numbers between 3 and 24 such that the

resulting sequence is an A.P.

Watch Video Solution

8. Find the  and  term of G.P. : 5, 25, 125,…..

Watch Video Solution

10th nth

9. Which term of the G.P., 2,8,32, ... up to n terms is

131072 ?

https://dl.doubtnut.com/l/_lZKzHVjmNFLH
https://dl.doubtnut.com/l/_sbylt6Klf6wz
https://dl.doubtnut.com/l/_GjTlj9dXLpKm
https://dl.doubtnut.com/l/_fj1NykUffZWS


Watch Video Solution

10. In a GP the  term is 24 and  term is 192. find

the  term.

Watch Video Solution

3rd 6th

10th

11. Find the sum of first n terms and the sum of first 5

terms of the geometric series 

Watch Video Solution

1 + + + ............
2

3
4
9

https://dl.doubtnut.com/l/_fj1NykUffZWS
https://dl.doubtnut.com/l/_kCLk8pVNLi3a
https://dl.doubtnut.com/l/_sCKtYhecfb4k


12. How many terms of the G.P. 3, , . . . . . . are

needed to give the sum  is

Watch Video Solution

,
3

2

3

4
3069

512

13. The sum of first three terms of a G.P. is  and their

product is – 1. Find the common ratio and the terms.

Watch Video Solution

13

12

14. Find the sum of the sequence 7, 77, 777, 7777, ... to n

terms.

Watch Video Solution

https://dl.doubtnut.com/l/_MCrC64hjd6ya
https://dl.doubtnut.com/l/_sNuBpa03b3bg
https://dl.doubtnut.com/l/_Tt8EgOBLeyhx


15. A person has 2 parents, 4 grandparents, 8 great

grandparents, and so on.Find the number of his

ancestors during the ten generations preceding his

own.

Watch Video Solution

16. Insert three numbers between 1 and 256 so that the

resulting sequence is a G.P.

Watch Video Solution

https://dl.doubtnut.com/l/_Tt8EgOBLeyhx
https://dl.doubtnut.com/l/_14P0Q9cZ6ZVS
https://dl.doubtnut.com/l/_QYtJERx8xWAx


17. If A.M. and G.M. of two positive numbers a and b are

10 and 8, respectively, find the numbers.

Watch Video Solution

18. Find the sum to n terms of the series :

Watch Video Solution

5 + 11 + 19 + 29 + 41..........

19. Find the sum to n terms of the series whose 

term is n (n+3).

Watch Video Solution

nth

https://dl.doubtnut.com/l/_y2rM89ag2VOg
https://dl.doubtnut.com/l/_bEmJjDh873N4
https://dl.doubtnut.com/l/_vxUuOiLDAhEc


Miscellaneous Examples

1. If  terms of an A.P. are in G.P, then

show that (p – q), (q – r), (r – s) are also in G.P.

Watch Video Solution

pth, qth, rth and sth

2. If a, b, c are in G.P. and  , prove that x, y

, z are in A.P

Watch Video Solution

a = b = c
1
x

1
y

1
z

https://dl.doubtnut.com/l/_vxUuOiLDAhEc
https://dl.doubtnut.com/l/_L5duCkBYloiP
https://dl.doubtnut.com/l/_V7vOekF6Smzx


Exercise 9 1

3. If a, b, c, d and p are different real numbers such that

, then show that a, b, c and d are in GP.

Watch Video Solution

(a2 + b2 + c2)p2– 2(ab + bc + cd)p + (b2 + c2 + d2) ≤ 0

4. If a, b, c are in G.P then prove that equations

 and  have a

common root if  are in A.P.

Watch Video Solution

ax2 + 2bx + c = 0 dx2 + 2ex + f = 0

, ,
d

a

e

b

f

c

https://dl.doubtnut.com/l/_mrXebNY5XqXI
https://dl.doubtnut.com/l/_8BGSFakRZASG
https://dl.doubtnut.com/l/_oafOPIyMgWLY


1. Write the first five terms of each of the sequences

whose  terms are: 


Watch Video Solution

nth

an = n(n + 2)

2. Write the first five terms of each of the sequences

whose  terms are: 


Watch Video Solution

nth

an =
n

n + 1

3. Write the first five terms of each of the sequences

whose  terms are: 
nth

https://dl.doubtnut.com/l/_oafOPIyMgWLY
https://dl.doubtnut.com/l/_jdglEEOGX7Gs
https://dl.doubtnut.com/l/_W3aodTPuOXEy


Watch Video Solution

an = 2n

4. Write the first five terms of each of the sequences

whose  terms are: 


Watch Video Solution

nth

an =
2n − 3

6

5. Write the first five terms of each of the sequences

whose  terms are: 


Watch Video Solution

nth

an = ( − 1)n− 15n+ 1

https://dl.doubtnut.com/l/_W3aodTPuOXEy
https://dl.doubtnut.com/l/_bLGFzwkdD8uj
https://dl.doubtnut.com/l/_G7Lxpw66QUJZ


6. Write the first five terms of each of the sequences

whose  terms are: 


Watch Video Solution

nth

an = n
n2 + 5

4

7. Find the indicated terms in each of the sequences

whose  terms are: 

Watch Video Solution

nth

an = 4n − 3, a17, a24

https://dl.doubtnut.com/l/_G7Lxpw66QUJZ
https://dl.doubtnut.com/l/_ZdinqxrWSLNm
https://dl.doubtnut.com/l/_ObBWLXlK6vt5


8. Find the indicated terms in each of the sequences

whose  terms are: 


Watch Video Solution

nth

an = , a7
n2

2n

9. Find the indicated terms in each of the sequences

whose  terms are: 

Watch Video Solution

nth

an = ( − 1)
n− 1

n3, a9

https://dl.doubtnut.com/l/_gBIfORE7MMhh
https://dl.doubtnut.com/l/_m3mRfPMUMMN0


10. Find the indicated terms in each of the sequences

whose  terms are: 

Watch Video Solution

nth

an = , a20
n(n − 2)

n + 3

11. Write the first five terms of each of the sequences

and obtain the corresponding series: 

 for all 

Watch Video Solution

a1 = 3, an = 3an− 1 + 2 n > 1

https://dl.doubtnut.com/l/_GIi32E189uYT
https://dl.doubtnut.com/l/_4KglDHvffrGw


12. Write the first five terms of each of the sequences

and obtain the corresponding series: 

Watch Video Solution

a1 = − 1, an = , n ≥ 2
an− 1

n

13. Write the first five terms of each of the sequences

and obtain the corresponding series: 

Watch Video Solution

a1 = a2 = 2, an = an− 1 − 1, n > 2

https://dl.doubtnut.com/l/_uAahzT1lXfnR
https://dl.doubtnut.com/l/_kIrkigj0nQjU


Exercise 9 2

14. The Fibonacci sequence is defined by

 Find 

 for n = 1, 2, 3, 4, 5

Watch Video Solution

1 = a1 = a2 and an = an− 1 + an− 2, n > 2

an+ 1

an

1. Find the sum of odd integers from 1 to 2001.

Watch Video Solution

https://dl.doubtnut.com/l/_2z51UoxSiKTe
https://dl.doubtnut.com/l/_J9sKevHUktts


2. Find the sum of all natural numbers lying between

100 and 1000, which are multiples of 5.

Watch Video Solution

3. In an A.P., the first term is 2 and the sum of the first

five terms is one-fourth of the next five terms. Show

that  term is –112.

Watch Video Solution

20th

4. How many terms of A.P.  …… are

needed to obtain a sum -25?

−6, , − 5
−11

2

https://dl.doubtnut.com/l/_ZQscz26fmrtx
https://dl.doubtnut.com/l/_0VL6UkGLLaVq
https://dl.doubtnut.com/l/_HgpEEnG7jTR8


Watch Video Solution

5. In an A.P. if  term is  term is  , prove

that the sum of first pq terms is  , where 

.

Watch Video Solution

pth and qth
1

q

1

p

(pq + 1)
1

2

p ≠ q

6. If the sum of a certain number of terms of the A.P. 25,

22, 19, … is 116. Find the last term.

Watch Video Solution

https://dl.doubtnut.com/l/_HgpEEnG7jTR8
https://dl.doubtnut.com/l/_oMVBTSE7VevM
https://dl.doubtnut.com/l/_UVuAEnkUOzNd


7. Find the sum to n terms of the A.P., whose  term is

5k + 1.

Watch Video Solution

kth

8. If the sum of n terms of an A.P. is  , where

p and q are constants, find the common difference.

Watch Video Solution

(pn + qn2)

9. The sums of n terms of two arithmetic progressions

are in the ratio 5n + 4 : 9n + 6. Find the ratio of their

 terms.18th

https://dl.doubtnut.com/l/_RruGxL7PnNq8
https://dl.doubtnut.com/l/_BEYDXRNlgX4Y
https://dl.doubtnut.com/l/_MOqmGNcNUNav


Watch Video Solution

10. If the sum of first p terms of an A.P. is equal to the

sum of the first q terms, then find the sum of the first

(p + q) terms.

Watch Video Solution

11. The ratio of the sums of m and n terms of an A.P. is

 Show that the ratio of  term is

(2m-1) : (2n -1) .

Watch Video Solution

m2 : n2. mth and nth

https://dl.doubtnut.com/l/_MOqmGNcNUNav
https://dl.doubtnut.com/l/_ZyhakzMIwxgm
https://dl.doubtnut.com/l/_OKVQJFS6uLva
https://dl.doubtnut.com/l/_4c2Z6n6GomWt


12. If the sum of n terms of an A.P. is  and its 

 term is 164, find the value of m .

Watch Video Solution

3n2 + 5n

mth

13. Insert five numbers between 8 and 26 such that the

resulting sequence is an A.P.

View Text Solution

14. If  is the AM of a and b then n = …………

Watch Video Solution

an+ 1 + bn+ 1

an + bn

https://dl.doubtnut.com/l/_4c2Z6n6GomWt
https://dl.doubtnut.com/l/_2EDDDWIDQYQ7
https://dl.doubtnut.com/l/_Y4rILWi2QLqW
https://dl.doubtnut.com/l/_9gVwf4jmZuSh


15. Between 1 and 31, m numbers have been inserted in

such a way that the resulting sequence is an A. P. and

the ratio of  and  numbers is 5 : 9. Find the

value of m.

Watch Video Solution

7th (m − 1)
th

16. A man starts repaying a loan as first instalment of

Rs. 100. If he increases the instalment by Rs 5 every

month, what amount he will pay in the  instalment?

Watch Video Solution

30th

https://dl.doubtnut.com/l/_9gVwf4jmZuSh
https://dl.doubtnut.com/l/_X02zpkaMnhiL


Exercise 9 3

17. The difference between any two consecutive interior

angles of a polygon is  .If the smallest angle is  ,

find the number of the sides of the polygon.

View Text Solution

5∘ 120∘

1. Find the  and  term of the G.P. 


,.......

Watch Video Solution

20th nth

, ,
5

2

5

4

5

8

https://dl.doubtnut.com/l/_WfNJi51OFzS4
https://dl.doubtnut.com/l/_W77RHvlzn8jl


2. Find the  term of a G.P. whose  term is 192 and

the common ratio is 2.

Watch Video Solution

12th 8th

3. The  and  terms of a G.P. are p,q and s

respectively. Then =………

Watch Video Solution

5th, 8th 11th

q2

4. The  term of a G.P. is square of its second term,

and the first term is – 3.Determine its  term.

Watch Video Solution

4th

7th

https://dl.doubtnut.com/l/_GETK19uWZEhG
https://dl.doubtnut.com/l/_nC1uh1KmajxD
https://dl.doubtnut.com/l/_VIfm5aJHwmnt


5. Which term of the following sequences: 

(a)  is 128 ? (b) 

is 729 ? 

(c)  ?

Watch Video Solution

2, 2√2, 4.......... √3, 3, 3√3, .............

, , , .......  is 
1

3

1

9

1

27

1

19683

6. For what values of x, the numbers  are

in G.P ?

Watch Video Solution

− , x, −
2

7

7
2

https://dl.doubtnut.com/l/_VIfm5aJHwmnt
https://dl.doubtnut.com/l/_BCZWnMNoDFyQ
https://dl.doubtnut.com/l/_fhuX3xBmDqTs


7. Find the sum to indicated number of terms in each of

the geometric progressions in 

0.15, 0.015, 0.0015 ,.........20 terms .

Watch Video Solution

8. Find the sum to indicated number of terms in each of

the geometric progressions in 

 , ........n terms

Watch Video Solution

√7, √213√7

https://dl.doubtnut.com/l/_elwDZlx3yzKb
https://dl.doubtnut.com/l/_UdmBeCPzEvTr


9. Find the sum to indicated number of terms in each of

the geometric progressions in Exercises 

 terms (if )

Watch Video Solution

1, − a, a2, − a3, ....... n a ≠ − 1

10. Find the sum to indicated number of terms in each

of the geometric progressions in 

 terms (if )

Watch Video Solution

x3, x5, x7, .........n x ≠ ± 1

11. Evaluate 
11

∑
k= 1

(2 + 3k)

https://dl.doubtnut.com/l/_VFXwJrTgGFw4
https://dl.doubtnut.com/l/_laj6L5cKIIjb
https://dl.doubtnut.com/l/_wkT68eMvhhRv


Watch Video Solution

12. The sum of first three terms of a G.P. is 39/10 and

their product is 1. Find the common ratio and the

terms.

Watch Video Solution

13. How many terms of a G.P.3, , ,……….. Are needed to

give the sum 120?

Watch Video Solution

32 33

https://dl.doubtnut.com/l/_wkT68eMvhhRv
https://dl.doubtnut.com/l/_7H3k5pXx6PqC
https://dl.doubtnut.com/l/_zUkgvr0hDNMv


14. The sum of first three terms of a G.P. is 16 and the

sum of the next three terms is 128. Determine the first

term, the common ratio and the sum to n terms of the

G.P.

Watch Video Solution

15. Given a G.P. with a = 729 and  term 64, determine 

 .

Watch Video Solution

7th

S7

https://dl.doubtnut.com/l/_sZNkZDYm8Sx0
https://dl.doubtnut.com/l/_PrWKjM9hawq2


16. Find a G.P. for which sum of the first two terms is – 4

and the fifth term is 4 times the third term.

Watch Video Solution

17. If the 4th, 10th and 16th terms of a G.P. are x, y and z,

respectively. Prove that x, y, z are in GP.

Watch Video Solution

18. Find the sum to n terms of the sequence, 8, 88, 888,

8888… .

Watch Video Solution

https://dl.doubtnut.com/l/_VMEoZKHPXk35
https://dl.doubtnut.com/l/_0Vjj8ht1xeF3
https://dl.doubtnut.com/l/_E5ncnUqgTIgc


19. Find the sum of the products of the corresponding

terms of the sequences 2, 4, 8, 16, 32 and 128 , 32 , 8 , 2

Watch Video Solution

1

2

20. Show that the products of the corresponding terms

of the sequences a, ar,  and A, AR, 

 form a G.P, and find the common ratio.

Watch Video Solution

ar2, …arn– 1

AR2, …ARn– 1

https://dl.doubtnut.com/l/_E5ncnUqgTIgc
https://dl.doubtnut.com/l/_aVwKJQy5DD7U
https://dl.doubtnut.com/l/_N6GK2HsvfNol


21. Find four numbers forming a geometric progression

in which the third term is greater than the first term by

9, and the second term is greater than the  by 18.

Watch Video Solution

4th

22. If the  terms of a G.P. are a, b and c,

respectively. Prove that  = 1.

Watch Video Solution

pth, qth and rth

aq– rbr−pcP −q

23. If a, b, c and d are in G.P. show that

(a2 + b2 + c2)(b2 + c2 + d2) = (ab + bc + cd)2

https://dl.doubtnut.com/l/_X8rBNFJZQEYn
https://dl.doubtnut.com/l/_YksEPMayuigK
https://dl.doubtnut.com/l/_RU5OLdrb4Lbh


Watch Video Solution

24. Insert two numbers between 3 and 81 so that the

resulting sequence is G.P.

Watch Video Solution

25. If  is the AM of a and b then n = …………

Watch Video Solution

an+ 1 + bn+ 1

an + bn

26. The number of bacteria in a certain culture doubles

every hour. If there were 30 bacteria present in the

https://dl.doubtnut.com/l/_RU5OLdrb4Lbh
https://dl.doubtnut.com/l/_BWDsx5UEADXp
https://dl.doubtnut.com/l/_NjVxbF5basL1
https://dl.doubtnut.com/l/_UGzvnvaHXjff


culture originally, how many bacteria will be present at

the end of  hour,  hour and  hour ?

Watch Video Solution

2nd 4th nth

27. What will Rs 500 amounts to in 10 years after its

deposit in a bank which pays annual interest rate of

10% compounded annually?

View Text Solution

28. If A.M. and G.M. of roots of a quadratic equation are

8 and 5, respectively, then obtain the quadratic

equation.

https://dl.doubtnut.com/l/_UGzvnvaHXjff
https://dl.doubtnut.com/l/_zHT9YMp8ENuQ
https://dl.doubtnut.com/l/_l1kU71i9s7KL


Exercise 9 4

View Text Solution

1. Find the sum to n terms of each of the series in 

View Text Solution

1 × 2 + 2 × 3 + 3 × 4 + 4 × 5 + ....

2. Find the sum to n terms of each of the series in 

View Text Solution

1 × 2 × 3 + 2 × 3 × 4 + 3 × 4 × 5 + ...

https://dl.doubtnut.com/l/_l1kU71i9s7KL
https://dl.doubtnut.com/l/_n9vQnFCL9pIK
https://dl.doubtnut.com/l/_jRpooMVscpZc
https://dl.doubtnut.com/l/_CyQFOli6oMXn


3. Find the sum to n terms of each of the series in 

View Text Solution

3 × 12 + 5 × 22 + 7 × 32 + .........

4. Find the sum to n terms of each of the series in 

View Text Solution

+ + + .......
1

1 × 2

1

2 × 3

1

3 × 4

5. Find the sum to n terms of each of the series in 

View Text Solution

52 + 62 + 72 + ... + 202

https://dl.doubtnut.com/l/_CyQFOli6oMXn
https://dl.doubtnut.com/l/_3GugnaGbE3VH
https://dl.doubtnut.com/l/_rdp57LROGMdf


6. Find the sum to n terms of each of the series in 

View Text Solution

3 × 8 + 6 × 11 + 9 × 14 + .... .

7. Find the sum to n terms of each of the series in 

View Text Solution

12 + (12 + 22) + (12 + 22 + 32) + ...

8. Find the sum to n terms of the series in whose 

terms is given by 

nth

n(n + 1)(n + 4)

https://dl.doubtnut.com/l/_x67o9C9QeeMc
https://dl.doubtnut.com/l/_gaUtnZyagJsv
https://dl.doubtnut.com/l/_ywDOuuPz8API


View Text Solution

9. Find the sum to n terms of the series in whose 

terms is given by 

View Text Solution

nth

n2 + 2n

10. Find the sum to n terms of the series in whose 

terms is given by 

View Text Solution

nth

(2n − 1)2

https://dl.doubtnut.com/l/_ywDOuuPz8API
https://dl.doubtnut.com/l/_yIzHHzCfvqMP
https://dl.doubtnut.com/l/_PnTpEONGblZq


Miscellaneous Exercise On Chapter 9

1. Show that the sum of 

terms of an A.P. is equal to twice the  term.

Watch Video Solution

(m + n)th and (m– n)th

mth

2. If the sum of three numbers in A.P., is 24 and their

product is 440, find the numbers.

View Text Solution

3. Find the sum of all numbers between 200 and 400

which are divisible by 7.

https://dl.doubtnut.com/l/_cvYzJVM4xtwK
https://dl.doubtnut.com/l/_hX1oWkZaCcBb
https://dl.doubtnut.com/l/_QekPpCsHTONo


View Text Solution

4. Find the sum of Integers from 1 to 100 which are

divisible by 2 or 5.

Watch Video Solution

5. Find the sum of all two digit numbers which when

divided by 4, yields 1 as remainder.

View Text Solution

https://dl.doubtnut.com/l/_QekPpCsHTONo
https://dl.doubtnut.com/l/_MiWnp9wh5COH
https://dl.doubtnut.com/l/_84Lgp5iFfiYP


6. If f is a function satisfying f (x +y) = f(x) f(y) for all

 such that  ,

find the value of n.

Watch Video Solution

x, y ∈ N f(1) = 3 and
n

∑
x= 1

f(x) = 120

7. The sum of some terms of G.P. is 315 whose first term

and the common ratio are 5 and 2, respectively. Find

the last term and the number of terms.

Watch Video Solution

https://dl.doubtnut.com/l/_RPeNHjwdQ2rb
https://dl.doubtnut.com/l/_qxrG0KxhhSjP


8. The first term of a G.P. is 1. The sum of the third term

and fifth term is 90. Find the common ratio of G.P.

View Text Solution

9. The sum of three numbers in G.P. is 56. If we subtract

1, 7, 21 from these numbers in that order, we obtain an

arithmetic progression. Find the numbers.

Watch Video Solution

10. A G.P. consists of an even number of terms. If the

sum of all the terms is 5 times the sum of terms

https://dl.doubtnut.com/l/_WF0aeKK2UwE1
https://dl.doubtnut.com/l/_PbJFWRQUyCbx
https://dl.doubtnut.com/l/_ybxqhF8SVUUq


occupying odd places, then find its common ratio.

Watch Video Solution

11. The sum of the first four terms of an A.P. is 56. The

sum of the last four terms is 112. If its first term is 11,

then find the number of terms.

View Text Solution

12. If  then a ,b

,c ,d are in

Watch Video Solution

= = (x ≠ 0),
a + bx

a − bx

b + cx

b − cx

c + dx

c − dx

https://dl.doubtnut.com/l/_ybxqhF8SVUUq
https://dl.doubtnut.com/l/_zhktBqAvBobj
https://dl.doubtnut.com/l/_ehJMiAJne18K


13. Find the 5th term of the sequence 1, , 2

Watch Video Solution

√2

14. Find the 6th term from the end of the

A.P:17,14,11,.......-40

Watch Video Solution

15. If a  are in A.P.,

then

Watch Video Solution

( + ), b( + ), c( + )
1

b

1

c

1

c

1

a

1

a

1

b

https://dl.doubtnut.com/l/_B7C3zZ7zRRFB
https://dl.doubtnut.com/l/_88KnbjGasVan
https://dl.doubtnut.com/l/_HtH7XAv9G317
https://dl.doubtnut.com/l/_CdaEFxpoKAAC


16. If a, b, c, d are in G.P, prove that

 are in G.P.

Watch Video Solution

(an + bn), (bn + cn), (cn + dn)

17. Find the product of the following pairs? 

Watch Video Solution

−10ab3, − 6a2b

18. Find the product of the following pairs? 

Watch Video Solution

6pq, − 2pq2

https://dl.doubtnut.com/l/_CdaEFxpoKAAC
https://dl.doubtnut.com/l/_zY9RFf0dwKyw
https://dl.doubtnut.com/l/_ui7l66JnSOPJ


19. Find the product of the following pairs? 

Watch Video Solution

2lm, 5m

20. Find the sum of the following series up to n terms: 

(i)  (ii) 

View Text Solution

5 + 55 + 555 + ......

.6 + .66. + .666 + .............

https://dl.doubtnut.com/l/_ui7l66JnSOPJ
https://dl.doubtnut.com/l/_ce4dwzTJzaAJ
https://dl.doubtnut.com/l/_QWHuVT6pKHDS


21. Find the  term of the series 

 terms.

View Text Solution

20th

2 × 4 + 4 × 6 + 6 × 8 + ... + n

22. Find the sum of the first n terms of the series: 3+ 7

+13 +21 +31 +........

View Text Solution

23. If  are the sums of first n natural

numbers their squares and their cubes respectively,

then 

S1, S2, S3,

S3(1 + 8S1) =

https://dl.doubtnut.com/l/_Dc6pH1xJqFmW
https://dl.doubtnut.com/l/_HondV6WD5bJe
https://dl.doubtnut.com/l/_YqwbJLiL1OMN


Watch Video Solution

24. Find the product of the following pairs?

Watch Video Solution

a2bc, 12b3c

25. Find the product of the following pairs?

Watch Video Solution

12p3q, 5p2q2

https://dl.doubtnut.com/l/_YqwbJLiL1OMN
https://dl.doubtnut.com/l/_SJbRMy2DFoE6
https://dl.doubtnut.com/l/_EuCykdftU2vv


26. A farmer buys a used tractor for Rs 12000. He pays

Rs 6000 cash and agrees to pay the balance in annual

instalments of Rs 500 plus 12% interest on the unpaid

amount. How much will the tractor cost him?

View Text Solution

27. Shamshad Ali buys a scooter for Rs 22000. He pays

Rs 4000 cash and agrees to pay the balance in annual

instalment of Rs 1000 plus 10% interest on the unpaid

amount. How much will the scooter cost him?

View Text Solution

https://dl.doubtnut.com/l/_JwSL38JmLrLf
https://dl.doubtnut.com/l/_8LCmLL7l9jfU
https://dl.doubtnut.com/l/_Wa0apHZpOcH6


28. Find the product of the following pairs?

Watch Video Solution

12p3qr2, − 2pq2

29. Find the product of the following pairs?

Watch Video Solution

15q2r, 2p2q

30. A manufacturer reckons that the value of a machine,

which costs him Rs. 15625,will depreciate each year by

20%. Find the estimated value at the end of 5 years.

View Text Solution

https://dl.doubtnut.com/l/_Wa0apHZpOcH6
https://dl.doubtnut.com/l/_inkTbpqEefK2
https://dl.doubtnut.com/l/_T7kW0RUy5P3N


31. 150 workers were engaged to finish a job in a certain

number of days. 4 workers dropped out on second day,

4 more workers dropped out on third day and so on.

View Text Solution

https://dl.doubtnut.com/l/_T7kW0RUy5P3N
https://dl.doubtnut.com/l/_uIcjw42vtw1Z

